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Instructions to the candidates:
1)  All questions are compulsory.

2) Figures to the

right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A) 1)  How did Kalam’s father influence him in his childhood?

i)  What does C.V. Raman say about the issue of soil erosion?

B) i)  What are the points of difference between advertising profession
and other professions?

i)  Comment on the end of the story “The Gold Frame”.

Q2) Attempt any one from (A) and one from (B) in about 150 words each. [20]

A) 1)  Explain the relationship between Dmitrich and his wife.

i)  How does the poet describe condition of harp?

B) i)  Why does the poet consider money-madness as similar to delirium?

i)  Sharad meets Meena, his classmate in the market. They discuss
about their life and career. Write this in the form of a dialogue.



Q3) Attempt any one from (A) and one from (B) in about 150 words each. [20]

Q4)

Q5)

A) )

Explain how Indra Nooyi has brought vital and dramatic changes
in the policies of the company she heads.

What are Narayan Murthy’s arguements against socialism?

How does R.K. Narayan present the situation regarding English
in India?

What were the ills of the Licence Raj in India, according to Narayan
Murthy?

Attempt any one from (A) and one from (B) in about 150 words each. [20]

A) 1)  What are the narrator’s feelings towards the woodrose plant at the
end of the story?
i)  Write a character sketch of Rakesh with reference to the story
“A Devoted Son”.
B) What are the main ideas expressed by the poet in “Stopping by
Woods on a Snowy Evening”.
Attempt any one of the following in about 150 words each. [10]
A) i)  AsRahul Pawar, Write a letter to your cousin inviting him/her to
your birthday party.
i)  Write a brief newspaper report of two short paragraphs on the
following headline Sports.
B) Attempt any one of the following in about 150 words each. [10]
I)  Thereisavacancy in Mahindra and Mahindra for an office attendent.
Write a resume for the post.
i)  Write an e-mail letter to the Hindu at the e-mail address-editor@

hindu.com informing them about the problem of water supply in
your locality.

~s- ~ai- ~aat-
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Total No. of Questions : 4] SEAT No.

P1159 [Total No. of Pages : 8
[4963]Ext - 402
F.Y.B.Com.
FINANCIALACCOUNTING
(2013 Pattern)
Time : 3 Hours] [Max. Marks :100

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.

Q1) A) Fillinthe blanks (Any Seven) [7]

)  Maximum Loss should be distributed to the partners in their

(Capital Ratio, Profit sharing Ratio, Equal Ratio)

i)  Any balance in the profit and loss account of the amalgamating firm
will be transferred to account of the partner.

(Revaluation A/c, Capital A/c, Loan A/c)

i)  When partnership firm converts its business into a Ltd.co. it is
known as

(Amalgamation, Re - Construction, Conversion)

Iv) Accounting system saves a lot of monotonous
labour.

(Financial, Cost, Computerised)

v) Land Lord is also known as
(Lessee, Lessor, Tenant)
vi) The balance of short working account is transferred to

(Royalty account, Trading account, P & L account)

P.T.O.



vii) E.M.I stands for

(Equated monthly Instalment, Equal monthly Instalment, Equal
monthly Index)

viii) The cost of electric power should be apportioned over different
departments according to

(Horse power of motors, No.of light points, Horse power/machine
Hours)

IX) function key is used to get purchase voucher entry
screen.

(Fs’ Fg' Fe)

B) State whether the following statements are “True’ or “‘False’ (Any Seven)

[7]

I)  Surplus capital method is also known as proportionate capital
method.

i)  When firms are amalgamated, Realisation accounts are prepared to
close the books of such firms.

i)  Purchase consideration means the amount at which the company
agreed to purchase the partnership business.

Iv) Consistency refers to the ability of computers to perform a variety
of tasks, simple as well as complex.

v) As - 2 deals with Revenue recognition.

vi) The minimum Rent or Royalty which ever is more is to be paid to
the land lord.

vii) The buyer has option to return goods in case of hire purchase.

viii) The fire insurance on building is allocated on the basis of floor are
occupied by each department.

IX) Under Instalment system goods are sold to the purchaser on credit.
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C) Write short notes on (Any two)

I)  Methods of piece meal distribution

i)  Objectives of Conversion

i)  Distinction between Hire - Purchase and Instalment system.

Iv) Significance of computerised accounting system.

[16]

Q2) A, B & C sharing profits of a firm in the ratio of 2:1:1 respectively. They
decide to dissolve the firm on 31% December, 2014 When their balance sheet

was as follows:-
Balance sheet

Liabilities Rs Assets Rs
Capital Accounts Plant & machinery 25,000
A 18,000 Stock 15,000
B 15,000 Furniture & Fittings 8, 000
C 13,000 46, 000 Debtors 22,000
General Reserve 4,000 Investments 10, 000
Creditors 30, 000

80,000 80, 000

The Assets realised gradually as follows:-

- Rs. 28, 000

- Rs. 14, 000

- Rs. 26, 000

Prepare: a) The statement showing surplus capital

It Instalment

11" Instalment
111" Instalment

b) The statement showing distribution of cash

[4963]Ext - 402
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Following was the balance sheet of M/S X, Y and Z as on 31 March, 2014.
Balance Sheet as on 31 March, 2014.

Liabilities Rs. Assets Rs.

Capital Accounts Land & Buildings 40, 000

X 20,000 Plant & Machinery 25,000

Y 30, 000 Stock 17,000

z 40, 000 Debtors 22,000

Creditors 20, 000 Investments 13, 000

Bills payable 6, 000 Cash in hand 2,000
Reserve Fund 3,000

1, 19, 000 1, 19, 000

The partnership firm was converted into ‘A’ Ltd. who took the following
assets at the value stated below.

Assets Rs.
Land 50, 000
Machinery 20,000
Stock 15, 000
Debtors 15, 000
Good Will 14,000
Investments 10, 000

The firm paid the creditors at 95% in full settlement and Bills payable at
100%. The realization expenses paid by the firm Rs. 2,000/-. ‘A’ Ltd. paid
Rs.99, 000 in equity shares of Rs. 10 each and the balance in cash.

Prepare necessary ledger accounts to close the books of the firm and prepare
a balance sheet of A. Ltd as on 1% April, 2014.

[4963]Ext - 402 4



Q3) A) Following are the two balance sheets as on 31 December, 2014. [10]
Balance Sheets

Liabilities Suresh| Rana Suresh Rana
& & & &
Mahesh [Sanjeev Assets | Mahesh | Sanjeev

Creditors Cash in
13,00016, 000 hand 7,000 | 6,000

Bills Payable 10,000 (12, 000 Debtors | 16,000 | 20,000
Loan from Union

Bank 5,000 - Stock 20,000 | 25,000
Loan from Canarg
Bank -1 4,000 Investments| 10, 000 9,000
Capital Accounts Motor car | 15,000 | 18, 000
Suresh 30, 000 Machinery| 30,000 | 21, 000
Mahesh 40, 000
Rana - 125, 000
Sanjeev -142, 000

98, 000(99, 000 98,000 | 99,000

Suresh & Mahesh were sharing profits in the ratio of 3:2 and Rana & Sanjeev
were sharing profits in the ratio of 2:1.

The two firms amalgamated on the following terms:-

I)  Provision of 5% is to be made for doubtful debts on debtors of both the
firms.

i)  Stock of Rana & Sanjeev to be appreciated by 10% but stock of Suresh
& Mahesh to be depreciated at 5%.

i) Investments & Bills payables of both the firms were not taken over by
the new firm.

Iv) Loan from Union Bank & Loan from Canara Bank have been paid by
the respective firms.

v)  Machinery of Suresh & Mahesh is to be depreciated by 15% & machinery
of Rana & Sanjeev is appreciated by 10%.

[4963]Ext - 402 5



vi) The Motor cars are taken at Rs.13300 and Rs. 17400 respectively.

vii) The capital of the new firm is fixed at Rs. 150000 and it is to be shared
by the Suresh, Mahesh, Rana & Sanjeev in the ratio of 2:3:3:2.

Prepare Revaluation Account & Capital Accounts in the books of both
the firms.

B) Eastern India coal company worked a coal mine under a lease, which
provided as under :- [20]

I)  Royalties to be paid at 50 paise per ton of coal.
i)  Minimum Rent at Rs. 18, 000 p.a.

i) Each year’s excess of minimum Rent over the actual Royalties was
to be recouped during the next three years.

Iv) Ifany year the normal rent was not attained due to strike or accident
the minimum Rent was to be reduced proportionately according to
the length of stoppage.

Following was the output :-

2009 - 6000 Tons 2012 - 48000 Tons
2010 - 28000 Tons 2013 - 30000 Tons
2011 - 36000 Tons 2014 - 48000 Tons

During the year 2013, there was a strike for 4 months.

Write up the Royalties Account, Land Lord’s A/c and short working A/c in
the company’s books.

Q4) From the following Trial Balance of Godavari Departmental stores, pune.
Prepare Departmental Trading Account, Profit & Loss Account for the year
ended 31 March, 2014 and Balance sheet as on that date. [20]

[4963]Ext - 402 6



Trial Balance as on 31% March, 2014

Particulars Debit Credit
Rs. Rs.

Stock on 1.4.2013

Dept A 17,000 -

Dept B 14,500 -
Purchases

Dept A 35,000 -

Dept B 30,000 -
Sales

Dept A - 60, 800

Dept B - 51, 250
Wages

Dept A 8, 200 -

Dept B 2,700 -
Rent, Rates and Taxes 9, 390 -
Sundry Expenses 3,600 -
Salaries 3,000 -
Lighting and Heating 2,100 -
Discount Allowed 2,241 -
Discount Received - 650
Advertising 3,680 -
Carriage Inward 2,340 -
Furniture & Fittings 3,000 -
Machinery 21,000 -
Sundry Debtors 6, 060 -
Sundry Creditors - 18,000
Capital Account - 47,660
Drawings 4,500 -
Cash at Bank 10, 049 -

1,78,360 1,78, 360

[4963]Ext - 402




The following information is also provided.

a) Transfer of goods from A Dept to B Dept amounted to Rs. 420 and
from B Dept to A Dept of Rs. 500

b) The items like Rent, Rates and Taxes, Sundry expenses, lighting and
Heating, Salaries, Carriage Inward etc. are to be apportioned % to

DeptAand  to Dept B.

c) Advertising is to be apportioned equally.

d) Discount allowed and discount received are to be apportioned on the
basis of departmental sales and purchases excluding transfers.
e) Depreciation @ 10% p.a. on furniture and fittings, and on machinery is
to be charged  to ADeptand  to B Dept.

f)  Stock as on 31 March, 2014 in A Dept was Rs. 16, 740 and in B Dept
was Rs. 12, 050.

OR

A Ltd purchased a machinery on Hire - purchase system on 1.1.2010
From B Ltd. The cash price of the machinery was Rs.80,000. A paid
Rs. 20,000 on signing of an ag#gement and the balance in three annual
instalment of Rs.20000 together interest @ 12% p.a. on balance
outstanding of cash price. Every year the books of accounts were closed
on 31% December.

Depreciation was to be written off @ 15% p.a. on written down value
method.

You are required to pass the Journal Entries in the books of A Ltd with
workings.

~si- ~ai- ~aat-
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Total No. of Questions :8] SEAT No. :

P1160 [Total No. of Pages : 2
[4963] Ext. - 403

F.Y.B.COM.
BUSINESS - ECONOMICS (Micro)

(2013 Pattern)
Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:
1)  Question No.l1 Compulsory.
2) Attempt any Five from Question No.2 to 8.
3)  Figures to the right indicate full marks.
4) Draw neat diagrams wherever necessary.

Q1) Explain the Economic and Non - Economic Goals of Firms. [20]
02) What is Demand Estimation? Explain the methods of Demand Estimation.[16]
03) Explain the Internal and External economics of Large Scale Production. [16]

04) What are the features of Monopolistic Competition? Explain the Short - Run

equilibrium of a Firm under monopolistic competition. [16]
05) Discuss the Liquidity Preference Theory of Interest. [16]
06) Answer in brief. [16]

a) State the features of Oligopoly.
b) Explain the Law of Diminishing marginal utility.

Q7) Define Rent. Explain the Ricardian Theory of Rent. [16]
08) Write short notes: [16]

a) Innovation Theory of profit.
b) Concepts of Total Revenue, Average Revenue, Marginal Revenue.

1777
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Total No. of Questions : 7] SEAT No.

P1161

Time : 3 Hours]

[Total No. of Pages : 5
[4963]Ext - 404
F.Y.B.Com. BUSINESS
MATHEMATICSAND STATISTICS
(2013 Pattern)

[Max. Marks :100

Instructions to the candidates:

All questions are compulsory.

Figures to the right indicate full marks.

Use of statistical table and calculator is allowed.
Symbols have their usual meanings.

Both the sections should be written in same answer book.

1)
2)
3)
4)
5)

Ql) A)

SECTION - 1

Answer the following multiple choice questions by selecting correct
options from the given options.(Any four) [4]
) HCF of 24 and 36 is

a 6 b) 12

c) 72 d 18
i) a®: a’=a‘thenx =

a) 4 b) 6

c) 10 d 12
i) 1f 6:5:2:x then the value of x is

a) 3 b) 4

c) 5 d) None of the above
Iv) There are 15 girls in a class of 60 students, means percentage of

boys is
a) 15 b) 25

c) 75 d) 30
[P.T.0]



v) Ifxiy=57andx=30theny =
a) 25 b) 60

vi) Ages of Madhav, Ajit and Dilip are in continued Proportion. If
Madhav’s age is 4 years old and Dilip’s age is 9 years old, then the

age of Ajit is
a) 4 b) 6
c) 8 d 10

B) Answer the following multiple choice questions by selecting correct option
from the given options.(Any three) [6]

) The LCM of 20 and 50 is
a 20 b) 40
c) 100 d) 80
i) Ifa’="b®*and if a=2b then b =

a) 2 2/ D) 1
oR
c) b d)
i)  Mr. x invested Rs. 3100 in 6% shares at Rs. 124. How much
dividend will he get?

a) 115 b) 120
c) 150 d 125
- b x-3
iv) If 3 then x = :
a) 4 b) 6
C) 2 d 2

[4963]Ext - 404 2



Q2) Attempt any two of the following : [10]

a) Write note on STOCK EXCHANGE.

b) What sum will amount to Rs. 4000 in 3 years at 6% p.a. Compound
interest?

c) What is the difference between simple interest and compound intrest on
Rs. 1000 for 2 years at 5% P.a. (Compounded yearly)

Q3) Attempt any four of the following : [20]

a) Define the term statistics. Explain its scope in Management sciences.

b) What are the advantages of sampling method over census method?

c) Aman invested Rs.12648 at Rs. 124 and earns a dividend of Rs. 1122.
Find the rate of dividend?

d) What is the EMI of a loan of Rs. 25000 is repaid in 5 years, if the rate of
interest is 10% p.a. on the outstanding amount at the beginning of each
year?

e) Write note on Face Value and Market Value.

SECTION - 1l
Q4) Attempt any three of the following : [15]

a) Ravi sold two machines at Rs. 960 each. On one he gained 20% and on
the other he lost 20%. Find the percentage of profit or loss in the total
transaction.

b) A Commission agent gets 10% commission upto sale of Rs. 25000 and
12% on the sales exceeding Rs. 25000. In a month his sales are
Rs. 60000/- find his commission?

c) Explain the steps in solution of L.P.P by graphical method.

d) A dealer purchased a charger at Rs. 395/-. At what price should he

marked it for sale, so that he may earn 20% profit after allowing 10%
discount.

[4963]Ext - 404 3



€)

Solve the following LPP by graphical method.

Maximize Z = 4x + 3y

Subject to
2Xx+3y 6
x+y 10
X,y O
Q5) Attempt any three of the following : [15]

a) Explain the concept of Cash Discount and Trade Discount.

b) Dinesh holds 300 shares of Rs. 10 each. The company issues shares in
the ratio 3:5. The company declared a dividend of 12% on the enlarged
capital. What is the average rate of return on his investment?

c) Aand B are two types of fertilizers available at Rs. 30 per kg and Rs. 50
per kg respectively. Fertilizer A contains 20 units of potash, 10 units of
nitrogen and 40 units of phosphorus. Fertilizer B contains 15 units of
potash, 20 units of nitrogen and 10 units of phosphorus. The requirements
of potash, nitrogen and phosphorus is atleast 1800, 1700, 1600 units.
Formulate the above problem as a L.P.P to minimise the total purchasing
cost.

d) Calculate coefficient of variation for the following data:

12, 18, 15, 20, 16

e)  Write note on “Regression Analysis”.

Q6) Attempt any four of the following : [20]

a) What are the problems in the construction of Index Numbers?

b) Calculate Median for the following frequency distribution:

Marks 0-20 | 20-40 | 40-60 | 60-80 80-100

No.of students 4 8 9 20 9

[4963]Ext - 404 4



c) Obtain Rank correlation coefficient for the results of beauty contest:
Rank by JudgeA|1 (5 | 6| 7| 8 [ 2 |4 |3
Rank by JudgeB|1 |7 | 6| 2| 8 |4 |5 |3

d) The arithmetic Mean and Standard Deviation of a group of 50 items are
61 and 8 respectively. In a second group of 100 items they are 70 and 9
respectively. Find the combined mean and combined S.D. of two groups.

e)  Write a note on Scatter Diagram.

f)  Calculate Lasperys, Paasches and Fishers Price Index Number to the
following data:

Commaodity 2010 2015
Price Quality Price Quality
A 15 10 28 4
B 12 12 26 2
C 10 4 12 3
D 8 6 6 2
Q7) Attempt any one of the following : §,,—_= [10]
A) Calculate Karl Pearsons correlation coefficient for the following
data.
Marks in
Statistics | 60 | 70 [ 80| 90 [10 |20 | 30 | 40|50
Marks in
Mathematics| 65 | 70 | 80 | 75 |45 [40 | 50 | 60|55

B) 1) Forabivariate data; we have 53, 28, 1.5,
0.2

Find a) correlation coefficient between x and y
b)  estimate of y for x = 60
i)  Explain concept of cost of Living Index Number.

~s- ~ai- ~aat-
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Total No. of Questions :8] SEAT No. :

P1162 [Total No. of Pages : 4
[4963] Ext. - 405

F.Y.B. COM.
104-B:COMPUTER CONCEPTS AND APPLICATIONS

Computer Fundamental

(2013 Pattern)

Time : 3 Hours] [Max. Marks :100
Instructions to the candidates:
1)  Question No.l is Compulsory.
2) Solve any 5 Questions from remaining (Questions NO.2 to
Questions No.8)
3)  Figures to the right indicate full marks.

Q1) Attempt any Four of following [4 x 5 =20]
a) Explain Block diagram of Computer.
b) What are the types of Operating System?
c) Explain advantages and disadvantages of MS - Word.
d) Write short note on Local Area Network (LAN).
e) Explain Data Processing Cycle.
f)  State E - Commerce applications.

02) Attempt any Four of following [4 x4 =16]
a) Explain the characteristics of Computer.
b) What are the objectives of Operating System?
c)  Write short note on Mail Merge.
d) Explain Wide Area Network (WAN).
e) Explain Random File Organization.
f)  Write short note on Paint.

03) Attempt any Four of following [4 x4 =16]
a)  What are the applications of computer?
b)  Write short note on Windows explorer.
c) Explain need of Computer Network.
d) What are the functions of E - Commerce? Explain it.
e)  Write note on Search Engine.
f)  Explain Merits and Demerits of Electronic Data Interchange (EDI).

PTO.



04) Attempt any Four of following [4 x 4 =16]

a) Explain Hub.
b) Explain types of E - Commerce.
c) Explain E - cash structure.
d) WhatisImage tag? Explain it.
e) Explain dynamic Web pages.
f)  Explain sound effect in Web pages.
05) Attempt any Four of following [4 x4 =16]
a) Explain types of Bridges.
b) Explain uses of Internet.
c) Explain the technology involved in EDI (Electronic Data Interchange).
d) Whatare the advantages and disadvantages of Electronic Payment system.
e) Write note on Electronic Cheque. (E - Cheque)
f)  What are the process creating Hyperlinks in HTML.
06) Attempt any Four of following [4 x4 =16]
a)  Write short note on Web design pyramid.
b) Explain Internet Security.
c) Explain Web Server.
d) Explain basic concept of Electronic Fund Transfer (EFT).
e) Explain any two input devices.
f)  Write short note on Hard disk.
07) Attempt any Four of following [4 x4 =16]
a) Explain types of Viruses.
b)  Write note on Printers.
c) Explain the types of Chart in MS - Excel.
d)  Write note on Digital Cash.
e) Explain client - server technology.
f)  Write note on Cyber Juriprudence.
08) Attempt any Four of following [4 x4 =16]
a) Explain basic structure of HTML.
b) Explain Bus and Ring Topology.
c) What are the uses of Powerpoint.
d) How to create folder? Explain folder properties.
e) Write note on Router.
f)  Write note on Desktop.

17774
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gy7 4)

797 5)

97 6)

797 7)

97 8)
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Total No. of Questions : 8] SEAT No. :

P1163 [Total No. of Pages : 4

[4963] Ext.-406
EF.Y. B.Com.
OFFICE MANAGEMENT
Organisational Skill Development
(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question No. 1 is compulsory.

2)  Answer any five questions from question No. 2 to 8.

3)  Figures to the right indicate full marks.

Q1) Explain the objectives, Principles and the factors that are to be taken into
consideration while designing the Layout of an office. [20]

Q2) What is office Administration? Explain the various functions of an office
Administrator. [16]

Q3) What is meant by Time Management? Explain the principles of Time
Management. [16]

04) State the meaning of office Forms. Explain its types and objectives. [16]

05) Explain the 'Digitalisation of office Record'. State its Utility and Feasibility.[16]

06) State the importance of Communication. Explain the various elements of office
Communication. [16]

PTO.



Q7) Define 'Public Relation'. Explain nature and scope of Public Relation.[16]

08) Write short notes : [16]
a) Payroll Accounting.

b) Computerization of office activities.

[4963]Ext.-406 2



Total No. of Questions : 8]

P1163

g% : 3 T
o~ 1)
2)
3)
4)

[4963] Ext.-406
EF.Y. B.Com.
OFFICE MANAGEMENT
Organisational Skill Development
(2013 Pattern) (Optional)
(W@t FATR)
[Tegor or - 100
v7 .1 AT 3.
gy7 .2 @ 8 gEfier Hivrdgt 5 gy @i,

gy7 1) HETEEE @AY 3IGIU, qcd AT HEATEd AT GIR ST foama s
FIRTUTR ¥eeh TS hl. [20]

gy72) HETAA UIMTEA TEUTH hd ? hiEATerd gonaehtet fafae &l e &, [16]

gy73) dPH ATEATUA TEUTH hid ? A5l STAEATIATE ded TUse Rl [16]

TyT 4) wHETEE TUATET e T H. KEATAT TUHT ThR T 3G9 ¥ . [16]

Ty7 5) ‘wETET TES HTRRUT TUSE e Tl SUGThAT 9§ SaagrEidan forgr.[16]

¥97 6) HIVEEATS Uged WM. HEATed Heviagare fafaer uee vase &, [16]



gg7 7) ‘SA@Ueh AT @R et gl Saueh el TR 9 SaTH Tt .
g7 8) Teur foren

) U-TA ARSI

q) HETAD KRR HIUTTRHIIT

[4963]Ext.-406 4
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Total No. of Questions : 8] SEAT No. :

P1164 [Total No. of Pages : 2

[4963] Ext.-407
F.Y. B.Com.
BANKING & FINANCE
Fundamentals of Banking

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1) Question No. 1 is compulsory.

2) Solve any five questions from Q. 2 to Q. No. 8.
3)  Figures to the right indicate full marks.

Q1) What is Bank? Explain the Evolution of Banking in India. [20]
02) State the Secondary Functions of Bank. [16]
03) Explain the procedure of opening Saving Accounts in Bank. [16]
04) Explain the Methods of Remittances. [16]

05) Explain the Process and Limitations of Mulitple Credit Creation of Bank.[16]

06) Explain the characteristics and types of Bill of Exchange. [16]
07) What is Endorsement? Explain the types of Endorsement. [16]
08) Explain the Concept and Benefits of Core Banking system. [16]

PTO.



Total No. of Questions : 8]

P1l64 [4963] Ext.-407
F.Y. B.Com.
BANKING & FINANCE
Fundamentals of Banking
(2013 Pattern)
(WSt TUTaR)
gez : 3 ard] [ Tgor 7oT £ 100
gear .-~ 1) ¥ HF1% 1 a1 T8,
2) o7 @Al 2 @ U.%. 8 ATl HIvdg rer 99 qigal.
3) IwEIHEIT 37k TIATR QT U7 FIIAATa.
4) deylarst g@ s FvTaAET Tl

go7 1) ‘den TEUH T ? WRATAIA Seheda@mdT=il Ieghicll TUCE . [20]
TyT2) Sk gEAH EHE A, [16]
g97 3) oichd Sud WId SUSUVATE hIAULIdl TUSe . [16]
go7 4) U9 ursfervaTean usadl Tute . [16]
y7 5)  oehTel IgIAY UATHATE TShiET ER[A W@l Haet Tt . [16]
gy7 6) Tafug gomeh afvres snfur g wuse w0, [16]
T97 7) USSR TEU hid ? TSSThATd Teh T T [16]
g7 8) ‘RIS SR F HeheUdAT ATVT T IS TISE . [16]



Total No. of Questions : 5] SEAT No. :

P1165 [Total No. of Pages : 4

[4963] Ext.-408
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  All questions are compulsory.

2) Neat diagrams must be drawn wherever necessary.

3) Use of map stencils is allowed.

4) Figures to the right indicate full marks.

Q1) Attempt any one of the following questions : [20]

a) Define Commercial Geography. Explain the nature and scope of
Commercial Geography.

b) Explain the important factors of Cultural Environment.

02) Attempt any one of the following questions : [20]
a) Give the geographical account of Equetorial Evergreen Forest.

b) Explain the characteristics of Commercial Farming.

03) Attempt any one of the following question : [20]
a) Explain the Weber's Theory of Industrial Location.

b) Compare various Modes of Transport.

PTO.



04) Attempt any one of the following question : [20]
a) Explain in detail major industries in India.

b) Give an account of geographical factors influencing tourism.

05) Write short notes (any two) : [20]
a) Possibilism.
b) Importance of Forest.
c) Divided Circle Method.

d) Agro - Tourism.

[4963]Ext.-408 2



Total No. of Questions : 5]

P1165
[4963] Ext.-408
F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(Wt wUTR)
gz : 3 arq] [ Tgor 7oT - 100

gaar .~ 1) ad gv7 qislav snavas SiEa.
2) STEvIE A9 gaAF HTHET FHIEl.
3) THT RIHeq aTRUATT WATHT TR,
4) IwAlEST sidk T YOI O FfAATA.

go7 1) TTeATer Tehl HRIUTCATE Teht ToaTel 371 Torar. [20]

) U AT ST A[E, SR AT TaE ST STl Tose
.

q) HRpH(deh GATERUIE HgedTe Heeh T &l

g972) TTeATer Uehl hIUTCATE Teht ToaTel 3w forar. [20]
1) fagaasia werefa sruamn wWrmifere g .
q) SATUR A AT FaE HA.

g973) TWTeAter Uehl HhIUTCATE Teht ToaTel 371 Torar. [20]
) TSI SN TATHeRTRuTT fasara T .
) ATEdh TRRE qAATHE aIgewor .

3



g97 4) @refiel Uhl hIvTeaTEl Ueht U9ATa ST fergr.

) HRATAT THE ITET HloEar HITgd! Taee &,

¥) UdeATaR YU shIuiR HRTI{eieh Uceh TUSe hil.

gy7 5) Towr forer. (sroreatdt EM) ¢
) IIHAATETg
q) ST HEed
&) fawfsa ade e
E) Y - UHed
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Total No. of Questions : 5] SEAT No. :

P1166

[Total No. of Pages : 4

[4963] Ext.-409
F.Y. B.Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization And Management In India
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:-

1) All the questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [20]
i)  Write any two principles of India’s Defence organization
i)  Define Defence Budget
i)  State the meaning of Counter Intelligence
iv) State any two functions of Infantry
v)  Write any two functions of C.R.P.F
vi) Write any two functions of S.R.P.F
vil) Define Air- Power
viii) Define Deficit Finance
ix) Define Threat Perception
x)  Write any two characteristics of Signal Corps
xi)  Write any two limitations of Sea- Power
xii) Define Strategy
xiii) State the meaning of Logistics for Defence

PTO.



02) Answer in 500 words : [20]
Write a note on reconstruction programme of Indian Air- Force after 1947.
OR

Explain organization and functions of Ministry of Defence.

03) Answer in 500 words : [20]
Explain power and functions of the president in relation to the armed forces.
OR

Write a note on the role of Electrical and Mechanical Engineers during war.

04) Answer in 500 words : [20]
Describe Indian Intelligence Organization.
OR

Write a note on the role of Sea power during peace and war.

05) Write short notes on any two : [20]
i)  Various types of Air-crafts in Indian Air-Force
i)  Supporting Arms
iii) Role of private sector in Defence production

iv) Army Medical Corps

[4963] Ext.-409 2



Total No. of Questions : 5]

P1166
[4963] Ext.-409
EF.Y. B.Com.
e i WA 3fvg HAwH=E
TRATATE TGT0T HEed ATMUT STAEATI
(2013 Pattern)
(Wt wuiar)
gz : 3 ard] [ Tggor 7oT : 100

geqr .~ 1) @d T97 qisfavt smavas 3.
2) 3adiESier ok T FVHAATa.

gp7 1) 20 vs3ia IW . (HUEE FET) [20]
i) R ERIUT FHATA HVTATE! g dcd 998 .
i) “EREIUT AHEIIUAh SATEAT <T.
ii) ehTEver T o1 THE .
V) UTIEATS hivTdEl g s ot
V) hgl TG Tiee el HiIvTdgt 39 @i forgt.
vi) T TEitE dieftE e SivEt g e feret.
vil) EaTS TTHed SATEEn w|l.
viil) “‘Tedhifae wremTa’’ s .
ix) ‘oo YeheddT SATEAT .

x) o s w9 afvme Tme 0.



797 2)

797 3)

g97 4)

97 5)

Xi) WTH ATHLHTAT HIVETE! g TATET TE .
Xil) Tl ST .
Xiil) FRETUTETST YeaaT saaeama e forer.

500 vrsaTa ST AT, (SHIUTATH Th) : [20]
1947 Fatean AR gATgEeTrea GHa-e Shreishd Are feuur forer.
e

500 vreeTa 3TR =T, (SHIUTATE Th) : [20]
I VATEATSAT HeHTdIed WU AR ATfur e Tuse .

Tepan
FERTBTAA TAFEIh TN Heh(ehel SraAfHarEet Yifent arar feuur forar.

500 vrsaTa ST AT, (SHIUTATE Th) : [20]
TR TR TA AFTE FUI el

e
g MTIUT 1T hIBTetel ARRT AmweAtet giient amar fegur forar.

&t forgn. (SRioTeTdl g) [20]
)  wwe gaTdaeder ffde e

i) wETEw yETE (WOt )

fii) TRV IeATATAIS WIS IgA e iR

iv) et it i
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Total No. of Questions : 8] SEAT No. :

P1167 [Total No. of Pages : 2

[4963] Ext.-410
F.Y. B.Com.
CO-OPERATION (Optional)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question No. 1 is compulsory.

2) Solve any five questions from the ramaining questions.

Q1) State Nature, scope and objectives of Co-operation. [20]

02) What do you mean by the term 'cooperation'. State the principles of
Co-operation. [16]

03) State the recommendations of Machalegan Committee Report, 1912.  [16]

04) Describe the contribution of Dr. Verghese Kurien to the development of
Co-operative Movement in India. [16]

05) Critically evaluate the Achievement of Co-operative Movement in India. [16]
06) State various types of credit and Non-credit Co-operatives. [16]
07) Examine the Role of State Government in Co-operative Movement. [16]

08) Explain in detail the problems of Co-Operative Education and Training in
India. [16]

PTO.



Total No. of Questions : 8]

P1167
[4963] Ext.-410
F.Y. B.Com.
Hghl¥ (Optional)
(2013 Pattern)
(Wt wUTaR)
gez : 3 ard] [ Tggor 7oT : 100

gear .~ 1) ¥v7 . 1 Qisfavt savas: g,
2) ¥y . 2 78 Ukl Hivrdg g g9 @i

gy7 1) UEHW™ WEY, ardt rfur 3fese @, [20]

97 2) WEHR AT WAUTHT ATICATAT hid 3¢l Ser gral. Tgh Rl ded Taee . [16]

g¥7 3) WHehel' ™ Al argarer 1912 =an Hrewet @, [16]

9T 4) Bi. TfiE e I AR Gl geaseat faeardie aneE |9 [16]

¥97 5) WURAR Aghl asadedr Iudstier fesmTenes ufteror @, [16]
g97 6) Wk vaEwen fur ez fafay wer @i, [16]
Ty7 7) UEHT dpdsidid U IEATAT Yk TRETUT . [16]
g¥7 8) HRATAIA wgeprt foreror smfor ufvreromer wva wuse . [16]



Total No. of Questions : 5] SEAT No. :

P1168

Time : 3 Hours]

[Total No. of Pages : 2

[4963] Ext.-411
F.Y. B.Com.
MANAGERIAL ECONOMICS
(2013 Pattern) (Theory)

Instructions to the candidates:-
1) All questions are compulsory.

2)

Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Explain the nature and scope of managerial Economics.

02) State and explain measuring methods of price elasticity of demand.

OR

Define capital Budgeting. Explain usefulness of capital Budgeting.

03) a)
b)

a)
b)

04) What is cost Benefit Analysis? Explain steps in cost Benefit analysis.

Explain objectives of pricing practices.
Explain theory of supply.
OR
State usefulness of shorterm cost analysis in Business.

Explain diversification decision for investment.

05) Write short notes (any two) :

a)
b)
c)
d)

Role of MNCs
Gross Elasticity of Demand
Average Rate of Returns

Business Trends in India.

[Max. Marks : 100

[20]

[20]

[10]
[10]

[10]
[10]

[20]

[20]
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Total No. of Questions : 5]

P1168
[4963] Ext.-411
F.Y. B.Com.
STAATUR I 3TefvTrE
(2013 Pattern) (Theory)
(Wt FUTER)
de : 3 arg] [ Tggor 7oT : 100

ger .~ 1) qd g9 A1a9ae Higd.
2) IwEIEEIT ek TR QU T FIEATA.
3) onavaeE d9 gaE HTHET FHIEl.

gy7 1) HIRATTRIT ANAIMET TET o SATH FUeE . [20]
gy72) wmrirean fohua erafuerd=an aoATeaT vegdt | 9 T @6, [20]
feRan

WSTATHT HETATE SATEAT €T, HISTATSAT STl SUIhdl TISE hl.

go73) 1) fTohwa faiomsh sfrse wose wa0. [10]
)  qEsaTen faegia Tave W [10]
feran
) ATTETETAT FURTHA T [AFATUTT= ISUIhdT T [10]
q) TAaues Hewta fareteieRtunen futa wose w5 [10]

97 4) WE-aw favewur e w ? @ o e e araean faee . [20]

¥o7 5)  ArseTa Al forgl. (Horeardl g) [20]
H) g ST it
¥) AN Bqeh AAraehar
W) FOEL waEr )
) WRATAIA ST Tt
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Total No. of Questions : 8] SEAT No. :

P1169 [Total No. of Pages : 2

[4963]Ext.-412
F.Y. B.Com.
ESSENTIAL OF E-COMMERCE
(New) (2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question No. 1 is compulsory.

2) Solve any 5 questions from Q.No. 2 to Q. No. 8.

3) Figures to the right indicate full marks.

Q1) What is E-Commerce? Explain features of it. What are Advantages and Dis-
advantages of E-Commerce? [20]

02) Explain mobile commerce. Explain in detail the future of mobile commerce

and E-commerce in India. [16]
03) Explain types of E-Commerce with example. [16]
04) What is E-Market? Explain merits and demerits of E-Market. [16]

05) Explain requirnments of E-Payment system. Discuss Pre and Post Payment
Services. [16]

06) What is E-banking? Explain its areas and compare traditional banking with
E-banking. [16]

PTO.



Q7) What is EDI? What are the different uses of EDI? Explain components of
EDI. [16]

08) Write short notes (any two) : [16]
a) Domain Name System
b) Digital Economy
c) Online Booking System

d) Digital Signature

[4963]Ext.-412 2



Total No. of Questions :9] SEAT No. :

P1170 [Total No. of Pages : 2

[4963] Ext.-413
F.Y. B.Com.
INSURANCE AND TRANSPORT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question No. 1 is compulsory.

2) Solve any five questions from the ramaining questions.

Q1) Define the concept of Insurance. Explain principles of Life Insurance. [20]

02) Explain the working of Life Insurance corporation. [16]
03) Explain the importance of Transport in Economic Development. [16]
04) Explain the challenges before Logistics in Global Age. [16]
05) Explain the components of Insurance Contract. [16]
06) Explain the importance of Goods Transport in Import and Export. [16]
07) Explain the meaning and scope of Travel and Tourism. [16]

08) Explain the importance of Road Transport. Explain its advantages and
limitations. [16]

09) What is Business Risk? Explain in detail various types of Business Risk.[16]

PTO.



Total No. of Questions : 9]

P1170
[4963] Ext.-413
F.Y. B.Com.
INSURANCE AND TRANSPORT
(2013 Pattern)
(ARt FUTR)
gz : 3 ard] [ Tggor 7oT : 100

gear .~ 1) ¥v7 . 1 Qisfavt savas: g,
2) meT @ 279 9k Hivrdgt g 99T @i

o7 1) Toaramei Heheud SR At Totded €Ut &, [20]
Ty7 2)  giauT HEWEHTH hIEULEd! TUtE . [16]
gy73) i faemmdiel aEgeh Hew T . [16]
97 4)  WNIRIRIUTTA IS AATTECHeaT THET TIE . [16]
gy75) Tom wmrdte fafay gew wase w0, [16]
97 6) FAETE - REtdidier Aol arEgeh Heve T . [16]
g7 7) UG G gdeATen e ORIl STl Tt . [16]
Ty7 8) T ATEehI WEtd WA T WIS Al TS . [16]

gy79) ATGEIR—E FAEH TEUTS i ? SATa@T—eR e fafaer ger wose &, [16]



Total No. of Questions : 8] SEAT No. :

P1171 [Total No. of Pages : 2
[4963] Ext.-414
F.Y. B.Com.
MARKETING AND SALESMANSHIP

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question Number 1 is compulsory.

2)  Answer any five questions from question numbers 2 to 8.
3)  Figures to right indicate full marks.

Q1) Describe various functions of marketing. [20]

02) Define marketing environment. Explain internal and external environmental

factors of marketing. [16]
03) What are different types of theories of buyers behaviour? [16]
04) State the factors affecting pricing decisions. [16]
05) Describe the importance of supply chain management. [16]
06) Define advertising. Explain various advertising media. [16]
Q7) Discuss rural marketing mix. [16]
08) What is meant by services marketing? State features of services. [16]

PTO.



Total No. of Questions : 8]

P1171

qz : 3 ]
T .~ 1)
2)
3)
4)

[4963] Ext.-414
F.Y. B.Com.
MARKETING AND SALESMANSHIP
(2013 Pattern)
(TSt FUTaR)
[Tgor o7 100
o7 AT 1 srfard ag.
99 FHIE 2 @ 8 qrdeht 5994 @ISlAvt Tavaes g,

gy7 1) Touumm=h fafay w foug w0, [20]

gy72) Touum uaierume=h samean . sidata o arga fovue yaierumer gew e

. [16]
gy7 3) WEREREA gduha fafay fasgm s s, [16]
v 4) ToRwa Ffvedier aioma SO gew . [16]
97 5) UIEST UGS SHGEATIAT HEwd favrg . [16]
gy7 6) SR s forgr. s fatay arean wose @, [16]
gy 7) I e faser ==t @ [16]
g7 §) war fauum e @ ? g e wmm. [16]
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Total No. of Questions : 8] SEAT No. :

P1172 [Total No. of Pages : 2
[4963] Ext.-415
EFY. B.Com.
CONSUMER PORTECTION AND BUSINESS ETHICS
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question Number 1 is compulsory.

2) Solve any 5 from Q. 2 to Q. 8.

3) Figures to the right indicate full marks.

Q1) What is 'Consumer'? Explain the duties and responsibilities of consumer.[20]

02) What do you mean by 'Consumer Education'? Explain the objectives of
Consumer Education. [16]

03) Explain the United Nation's Guidelines for Promotion of Sustainable
Consumption. [16]

04) Explain the scope of Consumer Protection Act, 1986. [16]

05) State the Provisions under section 18 of Food Safety and Standards Act,
2006. [16]

06) Discuss the Judicial Response to standard form of contracts in India and

Abroad. [16]
07) Explain the concept and Importance of Business Ethics. [16]
08) Write short notes : [16]

a) Ethical Issues in Human Resource Management.

b) Green Initiative.

PTO.



Total No. of Questions : 8]

P1172 [4963] Ext.-415
EY. B.Com.
UTEh TGV 9 HATEHETIS Afaqed
(2013 Pattern)
(W&t wFUTER)
gez : 3 ard] [ Tgor 7oT £ 100

gaar .~ 1) 37 1@isfavn snavas.

2) ¥2 d 9.8 Irdst Fivhagt grer I qigar.
3) IwdtSier ik AT gt T FIffaara.
4) deatarst gz sa1 FvTarAET ggTE,

97 1)

797 2)

797 3)

g97 4)

797 5)

797 6)

797 7)

797 8)

YTEeh FEUTST 1T ? UTERTET Thsd HTUT FAATIST=AT TS Hl. [20]
uTEeR TeTor wEUTSt W ? UTgeR TTeTonEt Sfagren Tate @ [16]
Tgh TCHET IYad STATE SUHRTE TedTe JUTRT AHTgyieh ded T . [16]
UTgeh TRETUT HFeT, 1986 =it SaTHT TUse T, [16]
T GRET AT |k shraret, 2006 wefie sherd 18 =it Arfeat favrg s [16]
WRATA 37T freona WiHeh eRu=ITeaT SEHTd =IRTe = Tidareri ==t r.[16]
ATIATRI e § TeheudT Tt Hhed Hged 9. [16]

ofrgerTa feut = : [16]
) AN HEIYU SATCATIATIA e qod
¥) Td IR



Total No. of Questions : 5] SEAT No. :

P1173 [Total No. of Pages : 2

[4963] Ext.-416
EFY. B.Com.
106 E : BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern) (Optional)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain in detail the distinction between Entrepreneur and Manager. [20]

02) What is Inflation? Describe the causes and remedies of Inflation. [20]
OR

Define the term Business Environment. Explain in detail the types of Business

Environment. [20]

03) a) Explain the comparison between Entrepreneurial and Non-Entrepreneurial

Personality. [10]
b) Write a detailed note on Maratha Chamber of Commerce. [10]
OR

a) Explain in detail the Entrepreneurship of Economic Theory. [10]

b)  Write a detail note on Entrepreneurship Development Institute of India
(EDII). [10]

04) Describe in detail Entrepreneurial career of Cyrus Poonawala. [20]
05) Write short notes (any two) : [20]

a) Entrepreneurial Behaviour
b) Role of Entrepreneurship
c) Prevention of Pollution

d) Depletion of Natural Resources

PTO.



Total No. of Questions : 5]

P1173

[4963] Ext.-416
F.Y. B.Com.

106 E : BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP

(2013 Pattern) (Optional)
(Wt wUTR)

gz : 3 ard] [ Tggor 7oT : 100
gt .~ 1) &d 397 qSlavt siravass 3.

2) IwEIEEIT ek TR QU T FIEATA.
3) @ewlarst gz st geA-ulier ugrEl.

97 1)

797 2)

797 3)

g97 4)

797 5)

IEISTeh ATV STEATTR ATATHENT Fleh ATIEAIIul TIES Rl [20]
TAATATE FEUTS T ? TATTE= ShRUT TTUT SUTIH ST |SEaquT 9ot . [20]
femar
SHTIETTreh TATERUT T W=l SATEAT 1. SATTATIeh TR0l Teh FTrEdaqqul
farore =, [20]
) IESTRIT SATTOT TR IeeTeha Saftehaa Fiomeie gorT Tase &, [10]
) TSI AR ATH Hiwd AT AfER du ferar. [10]
feman
) SESTha™ afeles fasama afeearaur Tose =, [10]
¥) URAT SEeTehar TRt EET Irer afeea du forg. [10]
AT GATATAT ITedT ITTehIT hiRfchgdl AUl qui . [20]
oo fogr. (et 9F) - [20]

) IESTRIT TAULEh

) SR R

%) WgEUT T

) FEfites TETEATT g™
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Total No. of Questions : 8] SEAT No. :

P1174 [Total No. of Pages : 4

[4963]Ext.-417
F.Y. B.Com.
106 F : FOUNDATION COURSE IN COMMERCE
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-

1)  Question No. 1 is compulsory.

2) Answer any 5 out of questions Nos. 2 to 8.

3)  Figures to the right indicate full marks.

Q1) What is Partnership? Explain its characteristics in detail. [20]
02) a) Explain economic and social objectives of Business. [8]
b) Distinguish between Private Ltd. Co. and Public Ltd. Co. [8]

03) Whatis SEBI? Describe the role of SEBI in protecting the interest of investor.

[16]

04) a) Describe the advantages of A.T.M. [8]
b) Describe the importance of Logistics. [8]

05) What are the advantages and problems of N.G.O.? [16]
06) a) Write a note on Education of Investors by SEBI. [8]

b) Discuss the Procedure followed in commodity Exchange Trading. [8]

PTO.



Q7) Write the meaning of following terms (any eight) :

a) Yellow Pages

b) Trade cycle

c) Subsidy

d) Primary Market

e) Seed capital

f)  Liberalisation

g) Mutual Fund

h) Non-Performing Asset
i)  Negotiable Instrument

j)  Patent

08) Write short note (any two) :
a) Service sector
b) Explain Joint Venture
c) Limited Liability partnership

d) Malhotra Committee Report

[4963]Ext.-417 2
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Total No. of Questions : 8]

P1174
[4963] Ext.-417
F.Y. B.Com.
106 F : FOUNDATION COURSE IN COMMERCE
(2013 Pattern)
(Wt wUTR)
gz : 3 arq] [ Tgor 7oT - 100

gear .~ 1) ¥e3 . 1 sifAard armg.
2) mva g 2 8 4Fl wivrdgt 5 gy @iglant,
3) IwEiEmSiT ek FYATA QUI T FIEATA.

gy7 1) wTiTH TEUR & ? Tt afvres aferar Tuse . [20]

Ty72) ) HAUET™ ATIHh SATTUT ATHINS IgEreed TUee . [8]
¥) WraeR HhUAT AIed SATUT WA hu-t waifed wefter e arm. [8]

yy7 3) Wl TEUN A ? TAAUIhENITAT fgarel FRLTUT HvATHED Waltal HiHehT Ut

. [16]
gg7 4) 31) ufeum. = wwEe . [8]
) AES o WES WO [8]
g7 5) N.GO. = wEe ATV TUET HI0TeT ? [16]
97 6) 1) WIgAR Jaduehgrra forerur arer feu foret. [8]
q) g fafwETea SR = = #w [8]



¥v77) Ereite garen A fogn (g o)

A) I U
) HMUR <sh

%) I
) Wufes IR

3) i Aigaw

W) IR

T) THIAA BE

v)  fafskra wrew
)  AEHH FETE
T) Uee

g7 8)  feu fergr. (ivradt 9M)
) [ar 9
q) HIH AeE
%) TAifed FeTargRl AR
g) WHAGHET Hiudl
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Total No. of Questions : 5] SEAT No. :

P1175

[Total No. of Pages : 3

[4963] Ext.-418
F.Y. B.Com.
ADDITIONAL ENGLISH

Text book : Gems of English Prose & Poetry

Edited by : Ashok Chaskar, Vijay Madge , Anand Kulkarni

Time : 3 Hours]

(2013 Pattern)

[Max. Marks : 100

Instructions to the candidates:-

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any ONE from (a) and ONE from (b) in about 150 words each :[20]

a) 1)
ii)
b) i)
ii)

How does Vandana Shiva demonstrate that economic globalisation
has not been an unmixed blessing?

What are the points of difference between the advertising profession
and other professions?

Dicuss the humour in "The Fortune - Teller".

Comment on Colin Legum's ideas on the growth of the Urban
population.

02) Attempt any ONE from (a) and ONE from (b) in about 150 words each :[20]

a) 1)
ii)
b) 1)
ii)

Attempt a character sketch of the narrator in My Financial Career.

What is the reason for the traveller choosing the less - travelled path
in "The Road Not Taken"?

Bring out the significance of good manners in life with Hill's views
in mind.

What king of freedom does Tagore desire for his country?
PT.O.



03) Attempt any ONE from (a) and ONE from (b) in about 150 words each :[20]

What are the two instances of good Indian films that Ray Cites?
Why does he think them praiseworthy?

Comment on the title of the poem "When We Two Parted."

When will the African Americans be Satisfied according to Martin
Luther king?

What is the central idea of Walt Whitman's "Gods"?

04) Attempt any ONE from (a) and ONE from (b) in about 150 words each :[20]

a)

b)

05) a)

b)

i)  What, according to Aruna Roy, has happened to the political system
of India?
i)  Write a critical appreciation of the poem "The Lotus."
i)  Discuss Swami Vivekananda's Chicago Speech.
i) Comment on the central idea of "Father Returning Home."
Attempt any ONE of the following in about 150 words : [10]
i)  Give abrief description of the situation in which Mangal Singh was.
i) How does the poet describe the various stages of Life in "All the
World's Stage"?
Attempt any FIVE of the following : [10]
i)  Give synonyms of the following words :
1) beauty 2) huge
i)  Give antonyms of the following words :

1) back 2) good

[4963]Ext.-418 2



iii) Make adjectives of the following words :
1) happiness 2) success
iv) Give verb forms of the following words :
1) description 2) central
v) Make a word each by using the following Prefixes :
1) in__ 2) pre
vi) Give full forms of the following :
1) R.B.L 2) L.I.C.

vil) Make a word each by using the following Suffixes :

1) ful 2y hood

[4963]Ext.-418 3



Total No. of Questions : 6] SEAT NO. :

P1176 [Total No. of Pages : 5
[4963] Ext.-419
F.Y. B.Com.
MARATHI
TaEIeh a SudlisTd st
(2013 )

FAATAYEAh 1) TR
) SATEEIR o IUAISTd AUST

gz : 3 g | [ T&or 7or : 100
gear : 1) @d gv7 @islav sravas 3iTg.
2) IwFiwSicT g TyITd QU [UT FeIiaard.

go7 1) 3N) Wrelierdehl suTeaTg! Tent ferwamer 500 vreera faer forgr. [10]
i) SATUR IRET SATUT AAIST W
i)  oTTTeAT AHUITYES e
iii) wTcId hg WK : TULAT I TTEY
iv) WIEAT ATSAUAT T
) ETeleTihl HITETE qET TEAE I 20 eI forer. [10]
i) 3= Forermamdt st om] 8 e ?

ii) e AT SaT SR AT ST ARSI T g€
HET?

iii) <RYUTEAT ATATY SF. TH dATehael ATICAT TFRTAET URed AT ?

PTO.



797 2)

iv) 2005 TTeft T, T ATIeTeRt AT WERTSE TR STT(-eh SrTeier
THIUTAT YRR TEeT ?

v) . g9, oRewtE areit Siudt aEuTen TheiiteRt NIRRT UTieg
TAT ?

vi) . WeHt Tl AT ST UTde Shivrar ?

vii) . STt aTe ATeAT Sreehiid YEdshTEt gi= Ard Teret.

viii) ‘ToYgats aushte’ areat SaaaEd SivmEr Hevr fHesdt ?

ix) TIREAT IeuTeATe Aefrg HIv AT ?

x) TR Wit fafsret aiht ufelt sen wivrear e 193 et ?
Xi) VIR SiaATa €09, FeAhult AT HRIUTRIUT HTH Hel ?

xii) Al AgeTa THAT AT wgcaTaset fHeTerel HIvAE 3 JEhR
fe=n.

WU THIUTATE TR T9T 3W 50 vreara forar. [16]
) =T oW A A Ty fawaes faem v w6

) AT HIAVRT AT A QAT STSUTTEUT hIft FTe ?

%) WIRd - Wi 2. [T Wi T wivr faem wige ?
g) @l g.fa. wcus Ot dudhe g wivTd areR SaTEet 3Ty ?

3) . STt ard g et snfur are areaTdiel ag-dey St e wel
A ?

W) I WIeE feforet art gha a8g’ Seur aiidie TATOAT ST hel ?
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97 3)

797 4)

797 5)

WA eTuch! SHITETEr g Tt 150 e s forar. [16]
1) =i oo vea I wifEdl - TEEE SETdiel TEH Ut .

) YT g TEUA THYATE WUk AT theted! dETal Ao UiEd
HEA T

&) SI. W drehad i H1eron et JRTte |,

g) WA dgoet I TohohesdT 8ATA hetedT MR YTSdITd SATeTar
=T

WTATCTUeh! ShIUTEATET g T9ATe 3T forgr. [16]

ar)  ‘Tma foreror WU WA YefiT &I HETCETT AT SATARTRT o
Ug HUEET™ A Wl Wia I e AT qgeT a9’ .

) off. Toem v = forfuesTan Serehia W STt TelT ofTE. TR |
grarETdt et fergr.

®) ‘AT ME AW HeHTd qHTAT AT YTHAHT U AT, &1 a9
3 TR &,

g) TIreRe U g W TR SHEush Ittt oft. eifea @ am
YT AT AT T, a7 HEHTA THUMTIAE TIR Hhl.

) WIAeTUeh! HITTE Teht T ST forgt. [8]

i) wETerETeETaT hiet fRAMnmETE 7 suRa Srara™r= ATg e
st FAferer <r/@w ==,

i) WERTE T TR TRUTEHE Jaehiedl geTarst Wl AThret
TIHT & hedt 3T TS AT FHoe Tam &,

[4963]Ext.-419 3



) WTATAUhT HIVETE ThT fIaamar SauHIIEEt AT et ageT aar
0. [8]

i) HR Iea ATAUH HIEHER

i) ‘Araueguil’ (TRt IR WS ITeA)

97 6) A) WIATCTUhI HIVICATE! TS UTRHTIE |1 o, [8]
i)  Administration

i) Clerk

iii) Co-ordinator
iv) Accountant
v)  Cashier

vi) Balance sheet
vii) Notification
viii) Minute

ix) Editor

x)  Circular

) W Sarare Ueh JaiaiT aRveEd e & gdus v =1.[8]
TATEAT ehales HATHE <0 Tohat ATl T Y01 gl Shel el g 3ITe, 319

YR A Uehed ThaT Iechte Tl UTigedT™ MUt 3HE @ grard
JATTUT Fedieit IhTAT gd. THeTedl SUHNATH ATIUT STfereh Tait, STfeeh qa
arTfur erferes S gral. WU Faiean okt rufgr sl aTe sau,

[4963]Ext.-419 4



T heATEATeAT ST 249 TR, UL HATSTeA1 G, S rardt
SATIUT ILTRTATST TheA=il ATIUT SHeATaATel STE AT, HATIATAT UTaeAT
AT 1Al HATIAeAT SIBAT-HI UTgal M7 SheAradiedr gediv foam
AT, TEUA HIFE AT AT & Sk (T S 20T ST TSl STTe.
TTAT QIEATAT WIST dTET heATadATe el giigst. (Irse @&t 125)

fepam
q) WA TS IATATA TSI WIHTe . [8]

Mahatmayji was a real leader of men and he led the people. He
never played to the gallery or cared to secure cheers from the crowd.
Indeed more than at any time, today, there is an urgent need to
understand the message of Bapu. He believed in work and according
to him, life should be one, of ceaseless activity. He never believed
in the maxim that "ends justify the means." If only he lived for
another auarter of a century he would have established international
peace based upon his Philosophy of life. Because once he said,
"no nation belongs to itself, every nation belongs to the world. I
want my country to be free so that it might die to serve the cause of

humanity."

[4963]Ext.-419 5



Total No. of Questions : 5] SEAT NO. i

P1177 [Total No. of Pages : 4
[4963] Ext.-420
F.Y. B.Com.
&<t (HINDI)
Hindi Additional
(2013 =)
qreagEdach : 1) TgT UNRHeT — TUTgeh : Sf. GHTY doeht
2) Ugd URHA - HUEH : BI. HTE Bl
e :3 a2 | qurtes : 100
guare 1) @4t gv7 fHard g/
2) FEA R F Sk VT & quiiE E

g7 1) ) TrafaRea o o foreft e ava &1 s foar @ fofau . [10]
i) ‘gr fi S’ s A wererg waw # fafen)

ii) @S UT. AR TAY & HAJAR T STHHRAT § hid—hiT &
0T E E 7

¥) ffaRaa @ o foret wh ava @1 s forar @ fofau . [10]
i) ‘" Sftew’ sfedr 1 wraned fkau)

ii) ‘SIS HId TEA' HIGAT o WILAW ¥ HiST T HiA6T Hw @ B2

go72) TrafaRaa @ o fadl o woai o s @em o forRau . [18]
) AT AR STEET HT YT HIA & ToT0 HIT—F T Y Tagarehar g ?

)  ‘udien’ g T 32YA S7uH wisel ® feRam)

PTO.



797 3)

797 4)

)
g)

%)

‘arfirger’ wmEr Rt ATfRreRt ‘<er & =i hi favvand ferfau)
‘wewLg’ ® Taba e 6 g @ feson i)
“Afgares Tia’ T SATAT A& T WHEAT =TEAT 2 ?

FrferRaa & & fRedl 19 woat & S |ew ° faiaw : [18]

&)

“IreAT o W RIS T VT FT ShEd @ 7
“Hreamft’ wfear = wrened fefau)

=1, it yror srETer 9 ‘S wed @ faenn’ e § iR -| e afta
R 2e

‘gerad’ whiaar | fauateti i aredfreh gumetl st fomur fohe TR feRan
27

‘AISIAT HiqAar § HIIAT hl UG ok hIA—H T Tq § ?

Frafofaa & @ foeedl o sraawont Y gwed st fit [10]
i) “‘wErt! oruH e g Ser foram, W€ @ wWi wa a@ Sen

gearl’’

i) “H orreHt ugeE ® St T L HaT] W GE UgaEy ¥ g g
%Fﬁﬂ\?ﬁg?%l”

iii) ‘‘gw forelt g &% T B qESI ... Al Q@ fava & g1
FrafaRaa & & foredi 3t sraawont it sy = Hifsm : [10]
i) et € e ferereRd, @,

afeh 3! BISAT Uedl g W

W ¥ W T BIET TR I,

g ot FT R & I W

[4963] Ext.-420 2



i) ‘aTEq % R W fava e § @
fora 3o eI gu @ TR
U HERH AT 54 § @
39 Y HE@ W I G aarei
Titaw ek 9R TR emenn)”’

i) ‘‘uew oS I UreT S99 & foru STt aE
AT SR TEHT iR Th =T
TG SATe H A a1 * forw
Tt SR TR SR ST weul’

%) ffafae & @ fAdl air woat & S Th-uw e | fofRaw 0 [5]
i) ‘drEar o sgeEE w1 gATE ey & i @ A fafeu)
i) ‘grR e’ wEH % 9@ 9 U % A faRau)

iii) ‘aftenfirr &= & fsurerd’ foRd wEa 2

iv) Tt e Sfvaes samaw @ TieAT wTEar 87
V) ‘U §g ohgl et ARl 27

vi) AT % U o TN T g7

vil) E 6 gga forew gt 7

viii) ‘Agear’ wfaar & wfa w1 am faRau|
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“gyT 5) o) TmtaiRea W @ foRd utw vsal o it utiives vieg et [5]

i)  Audit

ii) Cash

i) Grant

iv) Pay-Scale
v) Penalty

vi) Price Control

vii) Unit
viil) Zone

¥) frafaRea @ @ frdt v fagmom &1 emedss T aam fifse) [5]
) SR ¥ AT T AT HT SATRYH ST |
i) hITAL®, TS T Tl o oI UIALH o T [STUA|

#) FrafaRaa ufese &1 ww-fagr arw forfe) [4]

g o wiers w1 fAmior a0 o ofiel @ gran 1 S et 991 & @

T, @feR T, 3% w9 safhea @1 fAmior Sar T8 streamues A 21
TSTHAT AT RIS | S ot gt S9aT g WX e ok AN T AEAT AT
a1 fervafeeme=t & s=ar 31 R sat wgeaygut dwemyrth & a1 28T
QA AT ¥ GeAT 41 ?

g) ffaRaa & @ frdt v smeaes o @1 e dar fikm) 5]

i) T / ST e e Us, IR @ A, e agrteeme,
HTART & AT TTEAT9eh U & Alehil ok feru 3treed uor fergar /
forat 21

ii) ST TRTIH, ARTR W, Tl Yeaehtoard, Tl 9. <, Jur i
JEAhT hi AT WAl | TTET d4R Hifu|
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Total No. of Questions : 5] SEAT No. :

P1178 [Total No. of Pages : 2
[4963] Ext. - 421
F.Y. B.Com.
GUJARATI
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

W) Anidl SS un A5 QAya u Fely quil - ~[20]
(1) ol fawaly

(1) v\ ¢ swarmedl
(3) 'gu}ﬂ\ _ aneet uiiklg
(¥) astudy 2nhie c@ni\\

1.3) O um s usell WA G2 vl : 20]
(a) @k} s\ ol asiei ot Q{W’L &\aﬂ\\qusﬁq

(2) Re&sx o\ anctt wlial cngal udl s o\ ceiugal

W.3) S5 wel s Ul Al Guiz_ el [20]
() aygas o\ emciaand) sae2fen t&6)
() alga™ of\ sraan 3 aieaneaisnt
wy) (@) Zsdl qui) : (.&“l&? gL 3s)
(1) A\ o &'
() VIOAT xsien &I\\s&,aﬂ 22

(o) gerlle avil : (86 wa 3As) [10]
(1) 08y oled\an ' 2 L s\ 2wy

[10]

() 5] @' 20 g2y znarst)
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ww) (») yaluz zieis avl @ (s ua - A8 o8)
(1) @\ Q. Wgg, 644‘%%&5\2({\ |
() AR LW gx\q\gj SO QS @12 -
(3) Fadr A g AP 2R gl ool
(¥) B 206 2olley ey 02 -

. ~
() Yaial 20 &) oGt vatisidt) a1l

— ~
U Cﬂl’%ﬂ ol C"ﬂai-\gl\cil

¢ o~
) Bl 2R aghcias At ol 2T
Ana_ s

[10]

[10]

2
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Total No. of Questions : 5] SEAT No. :

P1179 [Total No. of Pages : 2
[4963] Ext. - 423
F.Y. B.Com.
URDU (General) (Paper - I) (New)
(2013 Pattern)

u’i};fu” e (B oo fr A

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) Attempt All Questions.
2)  Figures to the left side indicate full marks.

SIS L
[')5 ] ;/W//#%f/,;uw/(/w/r*w/ M’

e J@’/‘H /’/f'u C_",.J--fdé, =ttt
J 147 _2/)5()’5‘}/“}@’2/“]' S 05”
(157 LG g B

¢
. J/ﬁeﬂf/(/ Lo e Jof
L7, Bty e e S
///)'7 ¥ b/)/)é/;’//),«ﬁ @ O"‘Cf(/dd%w e
L ;
& ) ¢ e - /"E/')‘ &t
e ’!Mf/)%@/u’““"’ﬁ; %(/-"
e y L)7 £ eI L
7 - ﬂ 7
(ﬂ)}?f{d/j//// fﬁlgf‘j//@-*”// ¢
)Wulybfw&//b/;__yéz,.;b wa)l%ywﬂff &
30U Iyl 7(&/{ //»MM/ ub
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Total No. of Questions : 5] SEAT No. :
P1180 [Total No. of Pages : 4

[4963] Ext. - 424
F.Y. B.Com.
PERSIAN (General Paper - 1)
Adbiyat - e- Farsi

(2013 Pattern)
Time : 3 Hours]

[Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right side indicate full marks.

Q1) Explain with examples (Any Eight) :

[16]

a2 b o -

b ot - g o) - 3

ol - g [ LVU?'};_ -

Oliw) - g ~ -7

@)' k-] j—* }J' C);“’: w9

02) Explain the following (Any Three) : [15]
sp (s Us (2 J 5 W
Olol, (&)  owss (o

03) a) Reproduce the stories in your own words (Any two) : [14]

. -/ B ‘
’/U“H;““iz”’(?/) Lf)/'”;’,)&,ojl—{lné )

Fo e Sl (g,

b) Explain about life and literary works of the following (Any two) :[12]

Glarty &s g - 2 Sa )~
‘5;’/)';"&_3&’ & )i/»;‘/;‘)~3

PTO.



04) Explain in Persian or translate and explain in English, Urdu or Marathi.
(Any Ten) : [20]

QY 5o ST o1 oyl ()
s SOl (3 9 s, ’
| S g T ok SV 5 e g
%‘?W&&dyudzg(_ﬂ/
/b'wff"f’b’,wi”f"’f (3)
UUZ /J/—' &Y GJ»:{S)'L““;""‘" (Y
(’(ffu://; ,_(.‘Uj_/ U)J’
. _ UMJJQU])/JMJf)L))’U’_? (5)-
Uy ole g, 15 0o o b o :
@ Pl o ﬁ o
Sod. & el d5F S (&
=9, LP‘/JK_J"LM
Capb b L ol (2
S 0P ZuralPy ), BT b s
o P J)cJLs(‘
Ve
)?/UL' r/—f-c-fu’/)
>0 ))/ ~ ol s 0 EL

6"//’/ /J)-’ f-'t-..-z-“-"‘” 5“
df/}/«-w'bﬁ”ﬂ"f
IM )/Ub,ﬂa);t,r/ 7L

r‘,';l)/jf?u_f//&, s el
_ v = Sy
) 2 L St gl o U2

S sba Aol Soob b

&
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05) a)

Translate the text passages in English, Urdu or Marathi (Any Three) [15]

bg/ﬂj )/u)éﬂ)u]//w! ub);fuw’u'/>é_i’ v
L] z,,u/(uﬁL»»/ LEL G b Sl maT
W)/B/U""U’“’)M/U“”ﬂ(}”fu; S 5y pb e Sy e
f}wnﬂ/}m/u} M};Wu@/)wuyﬂ)

CE s Jo) ) i B A O N PG TGN
)J/)cﬁ”u\_l;//pm«_f‘?}/ﬂ(vw Cotlops’s g ovn

. »/ul/l»ﬂ/&f“‘f’r/

!
[ ad u—\-uzt /:'/,O//_;'uj)\_ﬂ/f\/)/M/Lr//)J (2)

e
/)/-’/'\—J“‘““SW/J,/l/"W _,uu-r*’[p/));—d//(/ r/
f'/o/),oW/ub)L»)//?uL,ow));wa O /g)/‘

Loe -~
It )L«U«"/,UJL/ /w/r/ leu,L (L) /wu>/j’
,M/;/// Zr fLPDLl;:/)Lrj)/U)//’&

u’wﬁwb? /LS“JJ wlp /w[/, LSJJU/Wﬁ) (3
ML"“/)) ,ujy‘” ’/}/ /‘{/J/ML-/J/ fw/(_jlp,\p

9w /f%f Ju/)ﬂ?ﬂ’uﬂ)/?’/’
s f0s S s o ln s 5 o2 Tl o A ) = IS
i T 2 U i L GO e 8 b s
3)/("90199}&/ uf’j/u/ Q&AU'?({Z%} /‘*://})
U,J/M)J\Jjo wd"”'J)g}"”(_r”” J).J/’ AL
fw}v/_lz) )/\ \""J/U) ‘/
éJ'Wb)/}”)K)g /\NL"W gj/ OJ)/(J"UV (4)
/*”/DI/}a/ulpd,u/uy/}_ /JM-/«—"Z;/_,\))/«)U’)f
//A/J/—Md/& /(/9/.’ cu;l/o/g_"JUZ//,o/L—{/
horg ot ko, w»(;w;“w & ot B
CA);J/)/)/!J)Q/UM)‘/’L;/,\//@ ((N"’Z/-f//y

. - .~ o A~

- ek 8///0’} 0 A7
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b) Translate the unseen English passages in Urdu, Persian or Marathi.[8]
Wise-men have said, "Knowledge" which people acquire in
childhood and early age is like an inscription upon stone which lasts

for long years and knowledge aquired in middle age and advanced age

is similar to a mark upon clay which is lost with little trouble.

363636
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Total No. of Questions : 6] SEAT No. :

P1181 [Total No. of Pages : 4
[4963] Ext. - 425
F.Y. B.Com.
FRENCH
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:-
1) All questions are compulsory.
2)  Use of dictionary is not allowed.

3) All questions have to be answered in French unless indicated otherwise.

Q1 Complétez le dialogue suivant (UN AU CHOIX); [15]
A. Mme Haba va dans une agence de publicité pour faire la publicité de son agence de
voyages. Elle discute avec le webmestre.
Mme Haba: Bonjour. Nous devons faire la de la publicité pour nos voyages.

Le webmestre :  Un e-mail commercial?

Mme Haba: C’est une bonne idée. )

Le webmestre: Je vois une page avec des photos des destinations en promotion .

Mme Haba: 24
Le webmestre: Oui, le nom du pays et le prix du voyage.

Mme Haba:  C’est super. ?

Le webmestre: Oui, on peut mettre des rubriques spécifiques, comme “I’hétel”, “vol”...
Mme Haba:  Parfait! ?
Le webmestre: En haut de la page.

ou
B. M. et Mme Rousseau vont au restaurant, “Mitzi”. Ils ont une réservation. Ils commandent
le Menu Trio avec le chévre chaud comme entrée, steak tartare avec des frites comme plat
principal et une tarte aux pommes comme dessert. Elles prennent le vin rouge et une
bouteille d’eau.

Mme Rousseau: Bonjour monsieur, nous avons une table réservée au nom de Rousseau.
Le serveur : Oui, monsieur. madamsecest par la.

{5)

Le serveur: Vous avez choisi?

Mme Rousseau: Nous prendrons _
Le serveur: Et comme plat principal?

M. Rousseau: _ o

Le serveur: Et comme garniture?

Mme Rousseau:

Le serveur: Et pour le dessert?

PTO.
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M. Rousseau:

Le serveur: Et pour boire?
M. Rousseau:

Le serveur: C’est noté.

Grammaire et vocabulaire
Mettez au pluriel

Le voyageur fait la réservation.
La directrice remercie I’employé.
J’aime bien le plateau-repas.

Donnez le féminin du mot souligné:
Le boulanger vend du pain,

Donnez le contraire du mot souligné:
IIs partent demain.

Elles achétent le savon de Marseille.

' Complétez avec de,du, de la, de I, des:

Les clients vont voir le prix voyage.

L’ingénieur consulte les dossiers clients.

Complétez avec 3, au, ala, aI°, aux:
Nous sommes hétel.
Paulparle _ délégués.

Complétez avec des adjectifs démonstratifs:
entreprise se situe 4 Toulouse.
appartement est au troisiéme étage.
La maison donne sur rue.

Complétez avec des adjectifs possessifs:
Sophie téléphone 4 mére.
Mme Beauchais a deux filles.

Choisissez la forme correcte du verbe:

Les clients demandent/demandes 1’addition.
Tu vient/viens de |’ Australie.

11 faites/ fait la cuisine.

Mettez les verbes entre parenthéses au temps donné:

Les clients (partir — passé composé) le 16 décembre.

Le directeur général (diriger — présent) I’ensemble des activités de I’entreprise.
Le réceptionniste (faire — futur proche) les réservations.

Trouvez I’objet direct:

L’hétesse sert les repas.

Le directeur finit son travail.

Vous apportez la carte, s7il vous plait?

[4963] Ext. - 425 2

filles sont ingénieurs,
Le directeur donne des instructions a secrétaire.

[6]

[2]

(2]

(2]

[2]

B3]

(3]

3]

(3]

(3]



K. Complétez le texte suivant avec les mots donnés ci-dessous: [2]
(mon, contacts, dans, mais)
Jaides  avecdes genstresdifférents  la journée alors je porte un costume et
une chemise J’ai toujours une cravate dans bureau.

Dites vrai ou faux: [3]
Le personnel peut prendre ses repas dans les bureaux.

Un certificat médical est obligatoire en cas de maladie ou d’accident.

Les grandes entreprises ont de 100 a 240 employés.

W

M. Ecrivez en mots: 3]
L) 111 2)98.  3)21 >

Quelle heure est-il?: ; [3]
21h45

13h30

5h15

ol ol

Q.3. Répondez aux questions suivantes (3 au choix): [6]
Nommez deux types de restaurants en France.

Quel est votre plat favori?

Nommez une entreprise de votre pays.

Nommez une entreprise francaise.

PN =

B. Reliez les deux colonnes [4]
A, . B.
a. Un parfumeur | .existe depuis 50 ans
b. Une compagnie 2. vend des fleurs
¢. Le savon de Marseille 3. une parfumeuse
d.Un fleuriste 4. Aérienne

Q4. Ecrivez en forme de paragraphe: [10]
A. Décrivez le processus de fabrication des boites de conserves de petits pois. Utilisez les
mots suivants: laver, remplir, fermer, stériliser, refroidir, envoyer, des cartons, des
distributeurs,

Pour cela utilisez les mots connecteurs — d"abord, puis, aprés, avec, dans. ..

ou

B. Voici I'organigramme de I'entreprise GDF.

Directeur General -
M. Roger Ducaisse

Assistante - Regine

Marlot
1 ]
ble d Responsable Responsable de
Rcspé) e c{l: Dcs yomes marketting - Pierre I'administration des
“ieAman L Hponl Chardonnay ventes - Paul Giroudet
I_ 7 assistants L . l_ )
comnslgrciaux 2 chefs de produits 2 assistantes
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Q.5. A. Traduisez en anglais: [10]
En France, la cuisine est un art et les Frangais aiment manger d’excellents plats bien
présentés, accompagnés de bons vis et servis sur une jolie table.
Les Frangais aiment aller au restaurant avec leurs proches, leurs amis ou leurs collégues
pour passer un bon moment pour féter un événement.
Les cafés : ils sont ouverts toute la journée et offrent un grand choix de boissons chaudes et
fraiches et des plats simples comme des croque-monsieur, des sandwich, des salades.

B. Traduisez en frangais (5 au choix): [10]
It is prohibited to smoke in the enterprise.

She is very organized.

We have a range of 400 products.

They offered to do an exchange.

You have 5 weeks of paid leave.

First, I choose a salad.

R SRR

Q.6 Compréhension de texte:
Pour mesurer la taille d une enterprise. on utilise souvent deux critéres : le chiffre d affaires
(le montant total des venltes) et le nombre d employés (1"effecti!) :
Les TPE : les trés petites entreprises (entreprises individuelles, artisans, commergants,
entreprises familiales) ont moins de 20 employcs.
Les PME : petites et moyennes entiepriscs
- Les petites entreprises ont moins de 50 employés,
- Les entreprises moyennes ont de 50 a 249 employés.
Les grandes entreprises ont plus de 250 employés.
En, France. La plupart des entreprises sont des petites entreprises.

Dites vrai ou faux:

Les petites entreprises ont plus de 50 employés.
Les TPE sont des artisans.
En France, il y a beaucoup de petites entreprises.

bl

B. Trouvez le contraire de ‘rarement’ dans le texte.

C. Trouvez dans le texte le féminin de ‘moyen’.

363838
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Total No. of Questions : 5] SEAT No. :
P1182 [Total No. of Pages : 4
[4963] Ext. - 426
F.Y. B.Com.
GERMAN (Basic)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:-
1) All questions are compulsory.
2)  Use of dictionary is not allowed.
Frage L Ubersetzen Sie! [15]
(A) Ubersetzen Sie ins Englische! (10)

Heinz Kohler ist 38 Jahre alt und verheiratet. Er hat zwei Kinder und lebt in Koln.
Morgens um 5 Uhr 30 steht er auf. Um 7 Uhr fahrt er zur Arbeit. Er fihrt mit dem Bus.
Die Fahrt dauert 40 Minuten. Er arbeitet 8 Stunden pro Tag. Seine Frau, 33, ist
Verkiuferin. Sie arbeitet nur halbtags. Dann kauft sie ein und macht den Haushalt. Die
Kinder sind noch jung und gehen nocht in die Schule. Zweimal im Jahr geht die Familie
campen. Sie nehmen Schlafsicke und Luftmatratzen mit. Luftmatrazten sind bequem. Sie
wohnen in einem Zelt. Der Sohn kann gut reiten und die Tochter kann gut schwimmen
und tauchen.

(B) Ubersetzen Sie ins Deutsche! (Nur 5) (05)

1.

OF  bh: dm e B

When do you wake up, Lena?

What would you like to eat, Tobias und Tanja?
Anna visited her friend today morning.

I don’t need money. I only need my freedom.
The flowers are in the vase.

Herbert must study for the exams.

Frage 1. {20]

(A)Beantworten Sie die folgenden Fragen! (Nur 5) (10)

1.

Beschreiben Sie Thre Stadt!

2. Was sind Thre Hobbys?

3. Was haben Sie letzten Sommer gemacht?
4.

5. Was alles gibt es in Threr Kiiche?

Thre Mutter kocht gern. Was alles kénnen Sie ihr zum Geburtstag schenken?

PTO.



6. Warum lernen Sie Deutsch?
7. Wie feiert man Weihnachten in Deutschland?
%(B)Schreiben Sie! _ (05)
" Sie haben am nichsten Sonntag Geburtstag Sie mochten Thren Freund Rafael zur
Geburtstagsaparty einlanden. Schreiben Sie eine E-Mail an Rafael!

(C)Schreiben Sie einen Dialog! (05)
1. Sie kommen heute Abend spit nach Hause. lhr Mann soll fiir das Abendessen kochen.
rufen Sie ihn an!
ODER
2. "Vera mochte mit Thnen surfen gehen. Heute haben Sie keine Zeit. Rufen Sie Vera an!
Frage II1. Grammatik [35]
(A)Ergiinzen Sie die richtigen Personalpronomen! (05)
1. Wann fahren _ nach Bremen, Herr Steiner?
2. Das Kind hat ein Eis bekommen.  schmeckt das Eis nicht.
3. EinBuch liegt auf dem Stuhl. _ist von Chetan Bhagat.
4. Ichlade  zum Geburtstagsparty ein, Nena und Nora.
5. Ich habe eine Tasche gekauft. Ich schenke _ meiner Freundin.
(B) Ergiinzen Sie die richtigen Possessivpronomen! (05)
1. Istdas  Brille, Sofia?
2. Wir warten schon lange.  Freunde kommen nicht.
3. Wiealtist ______ Sohn, Herr Uerlings?
4. Jenskann __ Kontaktlinsen nicht finden. Ohne sie kann er nicht sehen.
5. Julia, hastdu ____ Rucksack gesehen. Ich finde ihn nicht.
(C)Ergiinzen Sie die richtigen bestimmten/unbestimmten Artikel! (05)
1. Ichhabe  Zigarette.
2. Fur unser Schlafzimmer brauchen wir __ Bettund __ Matratze.
3. Der Chef gratuliert  Sekretarin.
4. Schau mal, daist ___ Regal. Wie findest du ihn?
(D) Schreiben Sie das richtige Modalverb! (05)

1. Veronika sehr gut zeichnen.

2. In dem Brief gibt es viele Fehler. Er sie korrigieren.
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3. Die Kinder ein Eis essen.

4. Der Student Chinesisch lernen.

5. Inder Schule die Kinder nicht schlafen.
(E) Formulieren Sie die Siitze ins Imperativ um!

1.

2
3.
4
5

Konnen Sie bitte die Tiir abschlieBen?
Konnt ihr bitte die Ubung machen?

Konnt ihr bitte ein Taxi rufen?

. Rufst du mich bitte am Sonntag an?
. Kannst du bitte aufstehen?

(¥) B'iden Sie das Perfekt!

S N

Jeden Morgen hort Samuel ein Lied.
Der Unterricht beginnt um 10 Uhr.
Lena schreibt ihrem Vater einen Brief
Er spricht lange mit seiner Freundin.
Ich koche das Mittagessen um 12 Uhr.

(G)Bilden Sie Fragen!

Eali el b e

5.

Das Madchen kommt aus der Schweiz.
Morgen fahre ich nach Kéln.

Ich habe René und seine Freunde eingeladen.
Jeden Tag lerne ich 2 Stunden Deutsch.

Ich hiinge das Bild neben den Schrank.

Frage IV. Wortschatz

(A) Was passt nicht?

W~

5.
(B) Schreiben Sie das richtige Wort!
1.

2
3.
4

kochen: Kartoffeln — Spaghetti — Gitarre — Nudeln

lesen: ein Buch — eine Zeitung — einen Brief — das Telefon

besuchen: eine Veranstaltung — ein Konzert — ein Theater — einen Fahrplan
anmachen: die Waschmaschine — das Radio — das Ventilator — die Schuhe
schicken: eine Ansichtskarte — eine Bewerbung — Blumen — Geburtstag

Wien, Berlin, Kéln sind
Tisch, Sessel, Stuhl und Sofa sind
Ralf kommt aus Italien. Er ist

Ich habe . Ich méchte etwas trinken.
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5. Heute ist Samstag. Gestern war

(C)Schreiben Sie mindestens 4 Worter pro Thema! (05)
I+ Weihnachten 2. Essen 3. Wohnen 4. Person 5. Freizeit
Frage V. Lesen Sie den Text und beantworten Sie die folgenden Fragen! [10]

Liebe Giesela,

seit drei Tagen sind wir hier in Tirol auf dem Campingplatz. Unsere Zeltnachbarn
kommen aus Holland. Das ist ein nettes Paar. Der Mann kann sehr gut Gitarre spielen
und singen. Gestern hat es hier viel geregnet. Deshalb haben wir unsere Autos genommen
und zusammen einen Ausflug (Picknick) nach Innsbruch gemacht. Innsbruch ist sehr
schon. Es gibt hier viel Museen und Girten. Die Kinder haben hier inzwischen Indianer
gespielt. Wir haben eine Stadtrundfahrt gemacht, dann haben uns die Hollinder zum ‘
Kaffee eingeladen. Das Café war sehr teuer aber der Kaffee war lecker. Innsbruch hat uns
gefallen. Bei der Riickfahrt hatten wir Gliick. Es hat einen Unfall gegebén, aber wir
haben rechtzeitig einen Umweg gefunden. Wir mussten nicht lange warten. Der Regen
hat aufgehort. Aber alles ist nass. Wir wissen nicht, was wir morgen machen wollen.

Hoffentlich scheint bald wieder die Sonne! Dann kénnen wir schwimmen gehen.
Viele Griifle
Deine Birgitt

(A) Beantworten Sie die folgenden Fragen! (03)
1. Was macht die Familie in Tirol?
2. Wie ist das Wetter?
3. Was haben sie in Innsbruck gemacht?
(B) Richtig oder Falsch? (04)
1. Aufdem Weg hat es einen Unfall gegeben.
2. Sie haben Innsbruch nicht schén gefunden.
3. Der Hollander kann gut singen.
4. Es regnet immer noch. :
(C) Suchen Sie drei Adjektive aus dem Text! (03)

363838

[4963] Ext. - 426 4



Total No. of Questions : 5] SEAT No. :

P1183 [Total No. of Pages : 3
[4963] Ext. - 427
EFY. B.Com.
SANSKRIT

STRARAT (Amarbharati)
(2013 Pattern)
de : 3 amE] [T or: 100

guAat - [) w4 UyA SAHard ofmea.
2) ITETHETA 3k YUT UT gvifaaTd.

Q1) Translate into English or Marathi any two from Section 'A" and any two

from Section 'B'. [20]
geteraht ‘3t faumTdier Sivredt giEe g ‘a’ faumdier sttt e susia

Section - 'A' (fwmr - ‘&)

i) 9 "aT weTd AYRTh aHEIGad | qEfd W T9E U qged Judtaras—
Rgrm: s =
T Juaaitu fgreted a9 w1 |
THE o Wd 9R g Jad a1 ||

ii) & g Yoot TehATiqe: HIVSTRERATER STHU ‘Wi WIUSTRe: | o1 wgfduTes
AV fiean "greifor T g9id | qdied amared T, SFamar aeqH
Thqftesty, aaf TeE | aeTa wwefe wueR e et Rt

Tef areviaq | WiauewiEt witmasa e = e aiguiaaie:
TEHIHTTE WOt |

iil) SfFTOTICIcaaea UTOT IT=AT | JuH | Scdal TEHS: Heai-sl a1 ciihd:
HAA TANIHE: Fa: | AT AT o QAT TTETey fawaasdunagEd: qu
FrTien TER | AT i STeehTeiE i T2 R Fesiith, qerfase Tt g
ATH | TEd RS AN TUTR ARAT: Had |
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Q2)

Section - 'B' (fawmr - @)

i) e aTgaET Teren
e fowen v oy |
AT e sEeg w1
fAmefm 99 Fopd 7 g = |

ii) heaT o W19y q o a8 AT |
THTET: OfdE dR oAy |
AT YEhNUAT: TR AT Ui |
AUYIAT qAEAS IFAT: TN ||

iii) erEdeh Tsh YSWETHAT: {9 GO
e wTigRuTeeReT: ARERY |
MERIREIE I TICE L i T P
forenfafy: o wafa wear Ao 11

Explain with reference to context any two from Section 'A' and any two
from Section 'B'. [20]

gEedeh! ‘3 il S g onfor ‘T faumTdier s g wwesd
TAETHIOT AT

Section - 'A' (fwmr - ‘&)

i) WEIUHR areast TRuNHYEEA |
i) YawE U ThafaTHTA R |
iii) ariiraa difdfrdaferar wamtar afe |

Section - 'B' (fawmr - @)

i) % ool ivh AT |
i) X fuen | qa st 9 7 afz arorften afver |
iil) geteEta vEnA quiy = g @ |
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03)

04)

05)

Write the summary of the lesson “Gereshdeati= .
“HerehdeaTia A ursTen Awi forgr.
OR / fear

Write the ‘weefeafuuft swem’ in your own words.

“wraferafiuft et queaT vreara ferat.

Critically appriciate the lesson ‘vraat: THEwHH .

‘Yiat: THEYAH AT UTeTe ifchtah TEIEUT .
OR / feran
Write the summary of the lesson ‘SEUFIEHT{’.

“HUTEH AT 9TeTen AR fora.

Write critical notes (any two) :

i) oA
i) wgferent
iil) TegraAgTEioTen
Foab b
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Total No. of Questions : 5] SEAT No. :

P1184 [Total No. of Pages : 5
[4963] Ext. - 428
F.Y. B.Com.
ARABIC (Gen.-1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Q1) Translate into English / Urdu / Marathi any two of the following
Passages : [20]

BT PRI P T 32,@9'
- L___A}_;.J__)r_)ﬂij)\g“\_s_y Olﬁ;L.% |
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6("};\\_03\)*9\__» L_,@J_J.& 3)9

Wwﬁd L}swss— u~>c_3
bfwdujq’j PEANCIC o
W\y L?‘\A\Rg_b\\qcs“‘“/)& Lz:—\s
RV RSN  FE T

W\w\w\——’)'ﬁ-—iwwa—ow
RIS =J_ﬂ>g_5 —i'\:,;_\\ws\)a}W)&ﬂ
| ya_::LLWQS'/ngC}l- SN

"/
-~ :
PN o S

~ q
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Q2) Translate and explain any four verses of the following : [20]
re ‘:' “:' R v
Lé__} R S \J,}Q\Q/\ <«
k b \\ > T \ N d \ ,

""'"‘\ ' A\ A._'_i * s
S >\ - ,\Tb"\
- ’ 5 , v',’/ p P
=T Ry )

;_y_»\b__gg\_(}__ma ()
L_w \(a._i_s
3/-’-5\;7“‘;’\-‘4—‘ L(o)
— >\¢ @SL)ML?L&

LA—-D\g:———‘d—ﬂ-‘——b(r*bkr* Y)
r;_.\ : Lao\o\__,,__sg___gv—’

03) a) Translate into English any four verses of the following : [15]
'4' o - - ._5. P LI b 4 Y -
— AV S U SV uY (1)
. -~ ™ / -
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5w oooa 7 -
— QW@;) Wo ot
P >/~ (V)

[ PR w
— O -4 7\ ‘v Ty -
G oy
b) Translate into Arabic any four verses of the following : [15]

1)  On the window there is a curtain.
i) His office is for from his home.
ii1)) She is busy in her office.

iv) Is your school closed?

v)  The colour of his car is beautiful.

vi) The garden of the University is big.

04) Explain with the examples any two of the following : [15]

V'L:é_\_'ﬁ.s)——\"( ‘(5&'_:__)5:; — 9y > C 1)
el SRS

Pl o Uaa 3 (x
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05) a) Summarise any One of the following : [S]

_)—L—-é__.\\(\)

L& \\(\‘)

b) Write in Arabic term any One of the following : [S]
M )Lw)j‘ t"o 5\ ( \)

— W‘L ‘ -
- >, \_.93\ _J-qu- C\ b,

c) Write a letter in Arabic to the company / Bank - Manager : [S]

<
__ w@fg),, *

363838
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